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Problem 12-13
A plane reflection grating with 300 grooves/mm is blazed at
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(a) At what wavelength in first order does the grating direct the maximum energy when used with the incident light normal to the groove faces?

(b) What is the plate factor in first order when the grating is used in a Czerny-Turner mounting with mirrors of 3.4-m radius of curvature?

(a) Littrow mount: 
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(b) Czerny-Turner mounting: normal incidence
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   Angular dispersion 
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   F = R / 2 = 1.7 m
   Linear dispersion = F D = 0.543 mm/nm

   Plate factor =  
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 = 1.84 m/m = 1.84 nm/mm
修訂：許芳文 2008.05
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